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FINANCIAL MANAGEMEMT

Paper : BCHN-5.01 | ”J%
Time : Three Hours | [ Maximum Marks : 80 ;E
Before answering the questions, candidates should ensure that they g
have been supplied the correct and commlete guestion paper. No E
complaint in this regard, will be entertafugd-dfter exanunation. E‘
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Note : Attempt five questions injall, sclecting one question
from each Unit. Question No. 1 is compulsory. All
questions carry eqalnarks.
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4. Determine the weighted average cost-of capital using

(a) book value weights and (b) market value weights
from the following capital structyre-of the company

2
Debentures (¥ 100 per debenture) 18,00,000
Preference share (¥ 100 per sharg) 12,00,000
Equity share (¥ 10 per share) 30,00,000

HOLIND) (N2
All lhﬂ' Securiﬁcs are traded in the caprital ek

Recent prices are :

Debentures ¥ 110 per-debénture

Preference share 2 120-per share

Equity share ¥ 22 pershare

Other informations.are :

(1) T 100 per qi@énluro redeemable at par ; 10 years
mﬂturii}?;&i‘%cmlpun rate; 4% flotation costs; sale
price 3 1{K,

(1) T 100 nﬁﬁ‘h\rcncu share redeemable at par, 10 years
matureifyjﬂfl“u dividend rate; 5% flotation Costs;
sale pred T100.

(3) P.T.O.
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(iii) Equity share ¥ 2 per share flotation cost, sale price

-
22

In addition, dividend expected on the equity shares at
the end of the year is ¥ 2 per share; the aoticipated
growth rate in dividend is 7% and the firin has the
practice of paying all its earning in the form of
dividends, The corporate lax rate is 35%. 16
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18,00,000
12,00,000
30,00,000
60,00,000
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5. ABC Ltd. has the following capital struc -
' ?

Ordinary shares 10 lakhs @ ¥ 10 each. _1.00.,00,000
-Reserve & surplus 40,00,000

10% debentures, face value ? 100 p(r I’Jb‘il. 60,00,000

o 'Ihec__:ﬂmpanyneeds? 50 lak b 1d execute a new
. project which will raise its opciathg profit (EBIT)
' o from the current level of ¥ 40 1ab1: ko 7 55 lakhs. It is
'_ & ﬁtefo“ﬂwmgﬂptﬁ?ma )

shares at a pn-n}ﬁ’um of T 15 each for

debentures t’ T 50 lakhs required
y. . /

!
16 Eq il 'gh:gz@r ? 25 lakhs at a premium of
: sh 1saife 12% debentures for the
ar 's hﬁ;lh' is 40%. E\'aluate lhe thm

advisefhc company. 16
# Gl R R

0 dmE; | so O SN 1,00,00,000
: .F fr 1000000
T, B -4 o 100 A T 60,00,000
£
' i
SR 1B POKG P.T.0.
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6. Write a brief account_of 'various theories of capital
_ . 16
%ot 2R @ Rt gt @ @l 3 by #%
7. Prepare a working eapital forecast from the following
informations : )

Weekly sales 60,Q80-gnits @ ¥ 8 per unit
Raw material gast T3 per umit

Direct wages T Lol per unit
Overheads T 1L,20,000 per week
Stock will indude the following

Raw maleripl. 2 5,00,000

Finished gonds 80,000 units
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Work-in Progress 2 weeks Caleulate the value of an eqrly share af cach of
Croditors allow 6 weeks credit and - dbbiars 'T. these companies applying Walter's formula when
allowed 5 weeks eredit. Wages are ]l.litb,m’rﬂ! ok dividend payout ratio (/P ratiops
T-- - r . LT A | .
_u'n.i amd overheads are pand alter 2 wee ks of mcpen . (@) 050 (b)) 0.75 and (¢) 055
Add 1T0% tor contingenaies ’ What lusi | Iraw-? 16
1 1at conclusion do you araw
Prer geenall & wrtdte G qubsp e 4 ) -
3 Ffrat. A fifes, BRfiee @& aed # fsy g 2
arerfrs AwT 60,000 THE @ 8 5o uify Pt 3 A s B RIHE Al —
vt el 3 50 SRLFE e | ama (B cug |
FECIEE R 1.60-50 iy g aE @ TS = | 15% ‘ 5% 10%
IRty 1,26,009 Fo ufa wemE awal §olt 1 AT { 10% | 10% 10%
Bt e wffer g - _ _ Ry 3iq o (3) | s | 8 8 _
Fe A Fe 5100000 = 5 T H G AW @ A B 9 B w0 E F
e = 80,000 §F7E L L o & O BT T e 33 S ¥ 7
7% ¢ W 2 wme Z z (a) 050 (b) 0.75 and (c)0.25 5
Mﬁﬁmaﬂmﬁmaﬁ5ﬁw%3m i : a1 Presd B 2 i
® sepf b oWl wE wge o A :{;ﬂ _r:j E‘* E" 9. What do you undemstand from optimum credit policy ? E:
Juitegg @ YT A4 $ 2 W P AT FTU 8 T 22l “ooL Explain the role played by credit standards and credit 22l
®/ 10% A B £ = analysis in the crédit-policy of a firm. 15 =z
7 e v i ) A ot
unT W o o arE fifa @ o oF gaed 7 e #@oam A o
& -V 3 3 % W@ gAdl ot e R #ogfim @ s S0 3
8. Following are the detlls regarding 3 companies
AL B Ol — S
Ald | BLd | ClLid
T ' ew 50 Y
+| Internal rate of returg 15% e i
.. = a 10 10% |
¥{ Cost of Equity capital 10 . . |]
¢ #} Eaming per share(¥) 8 <. .
pP.T.O
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